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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 5724 1.3 0.9 2 66 95.5
1b 5486 1.2 1 2 58.6 91.5
2a 5877 0.7 0.5 1 69.9 98
2b 5954 0.7 0.4 1 72.3 99.3
2c 5909 0.5 0.5 1 53.9 98.5
3a 5685 0.8 0.4 1 80.4 94.8
3b 5833 0.7 0.5 1 65.3 97.3
3c 5512 3.1 2.7 8 38.9 91.9
4 5183 2.3 1.8 5 45.7 86.4
5 5659 0.9 1.2 3 29.6 94.4
6a 5237 1.1 1.2 4 27 87.3
6b 5044 0.9 1.1 3 30.9 84.1
7a 5687 0.7 0.4 1 73.7 94.8
7b 5762 0.6 0.5 1 58.5 96.1
7c 5416 0.5 0.5 1 47.3 90.3
8a 4568 1.2 1.4 3 41 76.2
8b 3934 0.1 0.3 1 8.3 65.6
9 4836 2.7 2.1 7 38.5 80.6
10a 4186 0.1 0.7 4 3.6 69.8
10b 3823 0.6 1.2 5 12.6 63.8
11a 5380 0.4 0.5 1 37 89.7
11b 5291 0.5 0.5 1 53.4 88.2
1ic 4468 0.1 0.3 1 8 74.5

11di 4372 0.1 0.3 1 9 72.9
11dii 3880 0.3 0.5 1 32.6 64.7
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4. Abusiness is having a large glass logo made.

The outline of the logo is drawn to scale on a grid.

Each square on the grid represents an area of 0-5 m?2.
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Scale: 1cm? represents 0-5m?

The cost of the glass for the logo is £290 per m?2.

Calculate an estimate of the total cost of the glass for the logo. [5]

Total cost of the glass forthe l0go = ...
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Calculate the total length of the metallic border.
Give your answer in metres. [4]
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Calculate the total length of the metallic border.
Give your answer in metres.
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6(a). Look at diagram
B5x30+4)x4 or 20x30+4 x4 M2 | May be seen in stages
(154 x 4) or (600 + 16) Award M1 for sight of:
s (5x30) x4 (=600)
o 5x30+4(=154)
o+ (5% 30) x4 + multiple 4 (< 20)
616 (cm) Al | FT for ‘their perimeter provided at least M1 awarded
AND 4 sides considered
e 600
e 600 + multiple 4 (< 20) correctly evaluated
Eg (5 x 30) x 4 = 600 gains M1 Al
6-16 (metres) Al | FT ‘their perimeter’ for correct conversion to metres
provided at least M1 awarded
Eg A final answer of 6(m) gains M1 A1 Al
If no marks awarded, award SC1 for sight of
e 16(cm) or 0.16(m)
e 150(cm) or 1.5(m)
6(b) 1-3x0-4 or 130x40 M1 | Must be only the correct method but allow if x/+ by
power of 10
0-52 or 5200 Al | Mark final answer
Allow 0-5 provided no incorrect working seen
m? or cm? Ul | Correct units for ‘their area’
Eg1.3x0-4=0.52
0.52 x 100 = 52 cm?
Award M1 AQ U1 (attempt to change to cm?)
7(@) 1 (km) Bl
7(b) 7Y hours B1
7(c) 5 (km) Bl
8(a) (Breakfast recommendation is) 0.35 x 2400 M1 | (=840) May be seen in stages
or 240 + 240 + 240 + ¥ of 240 35% of 2400 without further working is awarded MO
or 2400 - 0.65 x 2400 or equivalent Sight of 240 + 240 + 240 + 24 is awarded MO
(Difference in calories) 860 - 0.35 x 2400 M1 | Allow 0.35 x 2400 — 860 for M1
FT 860 — ‘their derived 840’ irrespective of how ‘their
840’ was derived
20 (calories) Al | CAO. Answer of -20 (calories) is A0
Allow incorrect units seen, e.g. 20%
8(a) Alternative method
(Difference in calories) (860 + 2400 — 0.35) x 2400 M2 | M1 for 860 + 2400 — 0.35
20 (calories) Al | CAO. Allow incorrect units seen, e.g. 20%
8(b) 23:5 B1 | Must be whole numbers, mark final answer
Allow 239 : 59
4
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Calculate the total length of the metallic border.
Give your answer in metres. [4]
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Sticky Note

Some candidates worked with the 4 sides of the shape but did not work with the gaps. This candidate was awarded M1A1A1. 










Calculate the total length of the metallic border.
Give your answer in metres.

F leny

[4]

oise

ASecm =Z=pm =




Sticky Note

For the candidates that did engage with the length around the outside of the shape, many only worked correctly with one side and did not then multiply their value by 4. This candidate was awarded M1A0A0. If the candidate had written their 154cm correctly in metres then they would have gained the last A1 as a follow through mark. 
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6. Ann is designing her kitchen.

(@) Ann wants to place ceramic tiles on the floor in part of her kitchen.
She uses the tiles shown below.

- o

30cm

Ann’s design is shown below.
The tiles are to be laid with a 1cm gap between them.

Diagram not
drawn to scale

Ann wants to place a thin metallic border along the edges of the tiles, as shown below.

Diagram not
drawn to scale
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Calculate the total length of the metallic border.
Give your answer in metres. [4]

11
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(b) Ann wants a rectangular mat by her kitchen door.
The diagram below shows a sketch of the mat that she wants.

)

0-4m

1-3m

What is the area of the mat?
State the units of your answer.

O- [f- Diagram not
drawn to scale





























6(a). Look at diagram
(5x30+4)x4 or 20x30+4 x4 M2 | May be seen in stages
(154 x 4) or (600 + 16) Award M1 for sight of:
e (5x30) x4 (=600)
e 5x30+4(=154)
o (5% 30) x 4 + multiple 4 (< 20)
616 (cm) Al | FT for ‘their perimeter provided at least M1 awarded
AND 4 sides considered
e 600
e 600 + multiple 4 (< 20) correctly evaluated
Eg (5 x 30) x 4 = 600 gains M1 Al
6-16 (metres) Al | FT ‘their perimeter’ for correct conversion to metres
provided at least M1 awarded
Eg A final answer of 6(m) gains M1 A1 Al
If no marks awarded, award SC1 for sight of
e 16(cm) or 0.16(m)
e 150(cm) or 1.5(m)
6(b) 1-3x0-4 or 130x40 M1 | Must be only the correct method but allow if x/+ by
power of 10
0-52 or 5200 Al | Mark final answer
Allow 0-5 provided no incorrect working seen
m? or cm? Ul | Correct units for ‘their area’
Eg 1.3x0-4=0.52
0.52 x 100 = 52 cm?
Award M1 AO U1 (attempt to change to cm?)
7(@) 1 (km) Bl
7(b) 7Y hours B1
7(c) 5 (km) Bl
8(a) (Breakfast recommendation is) 0.35 x 2400 M1 | (=840) May be seen in stages
or 240 + 240 + 240 + ¥ of 240 35% of 2400 without further working is awarded MO
or 2400 - 0.65 x 2400 or equivalent Sight of 240 + 240 + 240 + 24 is awarded MO
(Difference in calories) 860 - 0.35 x 2400 M1 | Allow 0.35 x 2400 — 860 for M1
FT 860 — ‘their derived 840’ irrespective of how ‘their
840’ was derived
20 (calories) Al | CAO. Answer of -20 (calories) is A0
Allow incorrect units seen, e.g. 20%
8(a) Alternative method
(Difference in calories) (860 + 2400 — 0.35) x 2400 M2 | M1 for 860 + 2400 — 0.35
20 (calories) Al | CAO. Allow incorrect units seen, e.g. 20%
8(b) 23:5 B1 | Must be whole numbers, mark final answer
Allow 239 : 59
4
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(b) Ann wants a rectangular mat by her kitchen door.
The diagram below shows a sketch of the mat that she wants.

)

0-4m 0- [f- Diagram not

drawn to scale

1-3m

What is the area of the mat?
State the units of your answer. [3]




Sticky Note

For those candidates that did find the area of the rectangle, many struggled with giving the correct units for their answer and attempted to change units after their multiplication. This candidate was awarded M1A1U0. 
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(b) Ann wants a rectangular mat by her kitchen door.
The diagram below shows a sketch of the mat that she wants.

0-4m Diagram not
drawn to scale

1-3m

What is the area of the mat?
State the units of your answer. [3]
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After taking her meter reading, Alys always works out her electricity bill.
She has created a table to fill in, as shown below.

Period Previous meter Present meter Number of units of
reading reading electricity used
January,
February and 4380 4900 S2 o
March Oza ....... ol W ST sseprran
Charge for electricity:
............. S2e....... units at 21p per unit e 90k
Standing charge:
3 months at £7.00 per month £ 2l
Total charges: ¢ “q 8o
VAT Stk B.Ju S'qﬁ .......................
Amount to pay £ ‘25‘?‘1 ..............

Complete Alys's table to calculate her electricity bill.
q’ oo *4‘390:520/0'”“ it s s e

71





























0. If an answer space blank, check working below the
table to mark any unambiguous intention
Number of units 520 B1 | Answer shown in the space in the row with the meter
readings takes precedence
If the space in the row with meter reading is blank,
allow if 520 seen in the charge for electricity row
Charge for units 520 x (0.)21 M1 | FT ‘their 520’, the number of units used must be
given or clear from the units row
Award for sight of digits 1092(0) or equivalent on FT
(£) 109.2(0) Al | Must be in pounds.
(Standing charge) (3 months) (£) 21(.00) Bl
Total charges (£) 130.2(0) B1 | FT ‘their 109.2(0) + ‘their 21(.00)’ correctly evaluated,
provided neither amount = 0
VAT at 5% (£) 6.51 B1 | FT 5% of ‘their 130.2(0)’ correctly evaluated, allow
rounding or truncation to a penny (2 d.p.)
Amount to pay () 136.71 Bl | CAO
10(a) (Circumference) 1 x 140 M1 | Do not accept embedded within an incorrect
calculation for the circumference
Answer in the range 439 (cm) to 440 (cm) Al | May be implied in later working
X140 - 176 -128-60 or T x 140 — 364 M1 | FT ‘their derived circumference’ from a calculation
or equivalent involving 1 (including use of Trr or 1r?), including from
previous truncation or rounding errors
Answer in the range 75.6 (cm) to 76 (cm) Al | CAO, answer must be in the range stated. If no final
answer given, check if an answer has been inserted
in the statement in the question
10(b) (Area=)% x (4.3 +5.6) x 2.5 M1
or 25%x43+%x25x(5.6-4.3) orequivalent
12.375 (m?) Al | Allow 12.37(m?), 12.38(m?) or 12.4 (m?) provided not
from incorrect working (e.g. 4.3+ 2.5+ 5.6 = 12.4)
May be implied in further working
(Number of bags) 12.375+ 0.9 or 13.75 M1 | FT ‘their 12.375’ including the use of 12.375 rounded
or truncated
Allow for a trial and improvement method provided
the final trial gives 14 bags, e.g. for sight of
09x14=126
14 (bags) Al | Must be rounded up to a whole number of bags
Allow for an embedded answer of 14 (e.g. from within
a multiplication)
(Cost of fertilizer is 14 x £1.15) (£) 16.1(0) B1 | FT provided a whole number of bags considered and
at least 1 mark (M1) previously awarded
5
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After taking her meter reading, Alys always works out her electricity bill.
She has created a table to fill in, as shown below.

Period Previous meter Present meter Number of units of
reading reading electricity used
January,
February and 4380 4900 S2 o
March Oza ....... ol W ST sseprran
Charge for electricity:
............. S2e....... units at 21p per unit e 90k
Standing charge:
3 months at £7.00 per month £ 2l
Total charges: ¢ “q 8o
VAT Stk B.Ju S'qﬁ .......................
Amount to pay £ ‘25‘?‘1 ..............

Complete Alys's table to calculate her electricity bill.
q’ oo *4‘390:520/0'”“ it s s e

71




Sticky Note

 
This candidate has correctly stated the number of units used but has not found the correct cost of these. There is also no evidence of their workings on the lines below the table so no marks could be awarded. They then calculated the standing charge correctly and follow through marks were awarded including the mark for the VAT but not for the last mark which was CAO (correct answer only). This candidate was awarded B1M0A0B1B1B1B0.   
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9. After taking her meter reading, Alys always works out her electricity bill.
She has created a table to fill in, as shown below.

: Previous meter Present meter Number of units of
Period . . .
reading reading electricity used
January,
February and 4380 4900
March 2022 | | T e
Charge for electricity:
.......................................... units at 21p per unit B
Standing charge:
3 months at £7.00 per month
Total charges: £
VAT at 5%: £ o
Amounttopay £ ...

Complete Alys’s table to calculate her electricity bill.
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() Eve usually freezes food in June to use in December.
She says:

It doesn't matter whether I buy a freezer with a
3-star rating or one with a 4-star rating.

Do you agree?
Give a reason for your answer. 4 [

Yes \/ ' No

e ’(mpzmtu:e. 5. the. Sqma Md::.:&m\y
con bekn ke  Stored dor Imenths.... .











(c) Eve usually freezes food in June to use in December.
She says:

Tt doesn't matter whether I buy a freezer with a
3-star rating or one with a 4-star rating.

—

Do you agree?
Give a reason for your answer. ]

Yes No \/

>

June, Duly ;august. SeeterberOCtober, NOVemberidec
L z 2 [ 5 6 =

..... i DHOLS... OOy last.... D000 . . Ayiors tod























WJEC GCSE MATHEMATICS - NUMERACY

SUMMER 2022 MARKING SCHEME

Unit 2: Foundation Tier Mark Comments
1(a) (£)9.30 + 5 M1 | Sight of the digits 186 gains M1
(£)1.86 or 186(p) Al | If units are given they must be correct
1(b) ((£)13.80 — (£)9.30) + 2 M1 | Sight of the digits 225 gains M1
FT use of 5 x ‘their (£)1.86’ stated in (a) instead of
(£)9.30
(£)2.25 or 225 (p) Al | If units are given they must be correct
2(a) 6 ("C) B1 | Accept-6 ("C)
Answer may be embedded within a sentence
2(b) 4-star B1
2(c) No and suitable reason given relating to time of 3 E1 | Allow:
star and 4 star freezers being different e.g. ‘No because from June to December is 7 months’
‘No because from June to December is 5 months’
‘For 6 months, she needs a 4-star freezer'.
‘because the 4 star means you can store food for Do not allow:
longer (than 3 months)’ ‘No, because they are the same temperature’
‘because June to December is more than 3 months’ ‘No because June to December is 4 months’ i.e.,
‘because 3 stars is not long enough’ reference to the incorrect number of months.
‘need longer than 3 months’ ‘No because the food will go off and you will have to
‘needs 3 months or longer’ throw it away’
‘need from June to December which is 6 months’
‘because the food won't last until December’
3(a) Cuddly toy B1 | Allow cuddly toy and 12 given together
BO for 12 alone
3(b) No and reason given e.g. E1 | Ignore additional spurious or incorrect statements for
accepted and allowed responses
‘The frequencies would all need to be the same for an
equal chance’
‘no as it seems that there are more cuddly toys than Allow
anything else’ ‘different amounts available’
‘There aren’t equal numbers of each prize’ ‘different amount of stock for the prizes’
‘more of some prizes than others’ ‘there’s only 5 books, 9 boxes of chocolates and there
‘numbers are not equal’ are 12 cuddly toys’
‘different number of prizes’ ‘there’s 12 cuddly toys and 2 photo frames’
‘not equal to each other’ (comparison of any 2 or more)
‘different amounts of different prizes’ ‘more prizes than others’
‘cuddly toy is most common’
‘more of one thing than another’
‘more likely to win a cuddly toy or box of chocolates’
‘less chance to win a book or photo frame’ Do not allow
‘less of certain prizes’ ‘there are only 2 photo frames’ (with nothing else said
— no comparison with any other prize)
‘different prizes’
1
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() Eve usually freezes food in June to use in December.
She says:

It doesn't matter whether I buy a freezer with a
3-star rating or one with a 4-star rating.

Do you agree?
Give a reason for your answer. 4 [

Yes \/ ' No

e ’(mpzmtu:e. 5. the. Sqma Md::.:&m\y
con bekn ke  Stored dor Imenths.... .




Sticky Note

Some candidates gained E0 for only considering that the temperatures of the freezers were the same and did not consider the length of time food could be stored. 










(c) Eve usually freezes food in June to use in December.
She says:

Tt doesn't matter whether I buy a freezer with a
3-star rating or one with a 4-star rating.

—

Do you agree?
Give a reason for your answer. ]

Yes No \/

>

June, Duly ;august. SeeterberOCtober, NOVemberidec
L z 2 [ 5 6 =

..... i DHOLS... OOy last.... D000 . . Ayiors tod




Sticky Note

This candidate was awarded E1 for using 7 months as they had included June when counting the number of months. They also stated that the 3-star freezer only stores food for 3 months but the 4-star freezer stored food for 3 months or longer. 






















2. Most foods can be frozen and stored in a freezer.
Different freezers have different ‘freezer star ratings’.

The table below shows the temperatures of freezers with different star ratings.
It also shows the maximum length of time that food should be stored in each type of freezer.

Freezer star rating | Freezer temperature | Maximum length of time food should be stored
e -18°C 3 months or longer
i -18°C 3 months
> -12°C 1 month
* -6°C 1 week

(c) Eve usually freezes food in June to use in December.
She says:

It doesn't matter whether I buy a freezer with a
3-star rating or one with a 4-star rating.

Do you agree?
Give a reason for your answer. [1]

Yes No

05
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Glyn received a discount of 10% off the total cost of all the prizes.

How much did Glyn pay for all the prizes at his stall?
You must show all your working. [6 + 2 OCW]

ELEO . .
2 Sl Ak O N
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How much did Glyn pay for all the prizes at his stall?
You

w all your working.

Box ot Chocomf
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3(c) (Cost of prizes without discount)

9x1.80+12x230+5x3.20+2x4.70 M2 | May be seen in stages
(16.20 + 27.60 +16 + 9.40) Award M1 for;
e the sum of 3 correct products
e sight of all 4 correct products (even if not
added)
(£)69.2(0) Al | CAO
(Discount) (£)6.92 B1 | Allow (£)6.9(0) if 6.92 seen
FT 10% of ‘their (£)69.2(0)’ including 10% of (£)12
This may be implied in their final answer.
(Cost of prizes with discount) (£)69.2(0) — (£)6.92 M1 | FT ‘their (£)69.2(0)" - ‘their (£)6.92" provided there
has been an attempt at finding 10% and 10 or 0.10 is
not used as their value of 10%
(£)62.28 Al
3(c) Alternative method 1
(10% discount for each prize) (£)0.18 or (£)0.23 or B1 | Accept 18(p) or 23(p) or 32(p) or 47(p).
(£)0.32 or (£)0.47 If units stated, they must be correct
Correct cost of all reductions 1.62 AND 2.07 AND B2 | Award B1 for any one correct reduction
2.88 AND 4.23
9x162+12x2.07+5%x2.88+2x4.23 M2 | FT from B1, B1
(£14.58 + £24.84 + £14.40 + £8.46) Award M1 for the sum of 3 correct products
(£)62.28 Al
3(c) Alternative method 2
(10% discount for each prize) (£)0.18 or (£)0.23 or B1 | Accept 18(p) or 23(p) or 32(p) or 47(p).
(£)0.32 or (£)0.47 If units stated, they must be correct
(Total discount)
9x(£)0.18 + 12%(£)0.23 + 5%(£)0.32 + 2x(£)0.47 M2 | FT ‘their (£)0.18 or (£)0.23 or (£)0.32 or (£)0.47’
(£1.62 + £2.76 + £1.60 + £0.94) Award M1 for the sum of 3 correct products
(Total discount) (£)6.92 Al | CAO
(Cost of prizes with discount) (£)69.2(0) — (£)6.92 M1 | FT ‘their (£)69.2(0)’ — ‘their (£)6.92
(£)62.28 Al
Organisation and communication OC1 | For OC1, candidates will be expected to:
* present their response in a structured way
« explain to the reader what they are doing at each
step of their response
* lay out their explanations and working in a way that
is clear and logical
+ write a conclusion that draws together their results
and explains what their answer means
Writing W1 | For W1, candidates will be expected to:
+ show all their working
* make few, if any, errors in spelling, punctuation and
grammar
» use correct mathematical form in their working
* use appropriate terminology, units, etc.
2
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Glyn received a discount of 10% off the total cost of all the prizes.

How much did Glyn pay for all the prizes at his stall?
You must show all your working. [6 + 2 OCW]

ELEO . .
2 Sl Ak O N
ERXR-20 oo QS

B - . v of . v EoL R S

SC)‘?° Q;\zf_(og

e\jn(?cu@gc& e} ?dcm all bhe pnzes:




Sticky Note

Some candidates did not find the total cost of all the prizes but instead worked with just one prize of each. They then found 10% of their total and subtracted it. 
This candidate was awarded M0 A0 B1 M1 A1 OCW1. 
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(1-30x A= £Ib-20 =2,
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Cryn poud o sorod o592 gor all the prize




Sticky Note

This answer was seen quite often. Candidates were able to calculate the cost of the prizes and find 10% but did not subtract the 10% value to find how much was paid in total. This candidate was awarded M2A1B1 OCW2. 










How much did Glyn pay for all the prizes at his stall?
You

w all your working.

Box ot Chocomf
Cuddglé tog E

"\O/ off qu 7_0 |

(E920-0v0-7

MGc\
e%é%f.:‘po\o_

[6+20CW]

ol
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Sticky Note

This candidate has calculated the total cost of the prizes but has not been able to calculate 10% of the cost. They have used 10 pence as 10% and has subtracted this. The candidate was awarded M2A1B0M0 (no attempt at finding 10%) A0 OCW2.
















(c) Inthis part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

Glyn bought all of the prizes for his stall from a shop.
The number of each prize is shown in the vertical line diagram on the previous page.

The cost of buying one of each prize is shown in the table below.

Box of chocolates £1.80
Cuddly toy £2.30
Book £3.20

Photo frame £4.70

Glyn received a discount of 10% off the total cost of all the prizes.

How much did Glyn pay for all the prizes at his stall?
You must show all your working. [6+2 OCW]

Examiner
only
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4. A business is having a large glass logo made,
The outinz of the logo Is drawn to scale ona grid.

Each scuare on the grid represents an area of 05m2

— S — —

Seale: 1cm¥ represants 05m°

The cost of the glass for the lago is £200 par m’.
Calculate an esfimate of the tolal cost of the glass for the logo.

Total cost of the glase for thelogo= .. 19, L SO





























4. Evidence of counting squares
Number of squares 11 — 16 (squares or cm?)

(Area = ‘Their number of squares’ x 0-5 m? =)
5.5 — 8 (m?)

(Cost of glass=) ‘their area’ x (£)290

Correct answer

M1
Al

Bl

M1

Al

Look at diagram

If ‘their number of squares’ is within the range and no
evidence of counting squares award M1 Al

If count squares of whole grid (70) then MOAO. FT
with this

FT ‘Their number of squares’ x 0-5 (m?)
or ‘Their number of squares’ + 2 (m?)
This B1 may be seen at the end eg 12 x 290 + 2

Award M1A1B1 when no evidence of number of
squares counted and a value between 5.5 and 8 is
multiplied by 290. This would then get final M1 and a
possible A1

FT ‘their area’ x (£)290 provided M1 or B1 previously
awarded
Allow rounded value of (£)300 used for (£)290

Note: check if 290 has been + 2 rather than number
of squares + 2
Check 145 x number of squares

5.
Showing (47%), 20%, (5%), 3% and 25%

OR 0:47, (0-2), 005, (0-03) and 025
OR 47/100, 20/100, 5/100, 3/100 and 25/100

OR five correct calculations for a common amount

Ocean
Pacific (47%)
Atlantic (Y4)
Indian (0.2)
Southern (5%)
Arctic (0.03)

Largest

Smallest

B2

Bl

Look at the given table for some equivalent values
B2 for all correct %

OR all correct decimals

OR all correct fractions with a common denominator
OR correct work using a common amount

OR a valid combination that allows full comparison

Award B1 for any 2 correct conversions

Allow any unambiguous indication (e.g. ‘converted
values’).
Strict FT of ‘their work’ if at least B1 gained.

Correct answer (either oceans or proportions) with no
other marks awarded, gains final B1.

© WJEC CBAC Ltd.
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4. A business is having a large glass logo made,
The outinz of the logo Is drawn to scale ona grid.

Each scuare on the grid represents an area of 05m2

— S — —

Seale: 1cm¥ represants 05m°

The cost of the glass for the lago is £200 par m’.
Calculate an esfimate of the tolal cost of the glass for the logo.

Total cost of the glase for thelogo= .. 19, L SO




Sticky Note

This candidate thought that they needed to find the area of the whole grid rather than the logo. However, they did then deal with the scale and calculated the cost of their area. 
The candidate was awarded M0 A0 B1 M1 A1. 


































































































































































































































































































































(@) How much does it cost for one packet of sunflower seeds? . 2]

(b) How much does it cost for one packet of cosmos seeds? [2]

fin.80 4920 ={L. 5
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WJEC GCSE MATHEMATICS - NUMERACY

SUMMER 2022 MARKING SCHEME

Unit 2: Foundation Tier Mark Comments
1(a) (£)9.30 + 5 M1 | Sight of the digits 186 gains M1
(£)1.86 or 186(p) Al | If units are given they must be correct
1(b) ((£)13.80 — (£)9.30) + 2 M1 | Sight of the digits 225 gains M1
FT use of 5 x ‘their (£)1.86’ stated in (a) instead of
(£)9.30
(£)2.25 or 225 (p) Al | If units are given they must be correct
2(a) 6 ("C) B1 | Accept-6 ("C)
Answer may be embedded within a sentence
2(b) 4-star B1
2(c) No and suitable reason given relating to time of 3 E1 | Allow:
star and 4 star freezers being different e.g. ‘No because from June to December is 7 months’
‘No because from June to December is 5 months’
‘For 6 months, she needs a 4-star freezer’.
‘because the 4 star means you can store food for Do not allow:
longer (than 3 months)’ ‘No, because they are the same temperature’
‘because June to December is more than 3 months’ ‘No because June to December is 4 months’ i.e.,
‘because 3 stars is not long enough’ reference to the incorrect number of months.
‘need longer than 3 months’ ‘No because the food will go off and you will have to
‘needs 3 months or longer’ throw it away’
‘need from June to December which is 6 months’
‘because the food won't last until December’
3(a) Cuddly toy B1 | Allow cuddly toy and 12 given together
BO for 12 alone
3(b) No and reason given e.g. E1 | Ignore additional spurious or incorrect statements for
accepted and allowed responses
‘The frequencies would all need to be the same for an
equal chance’
‘no as it seems that there are more cuddly toys than Allow
anything else’ ‘different amounts available’
‘There aren’t equal numbers of each prize’ ‘different amount of stock for the prizes’
‘more of some prizes than others’ ‘there’s only 5 books, 9 boxes of chocolates and there
‘numbers are not equal’ are 12 cuddly toys’
‘different number of prizes’ ‘there’s 12 cuddly toys and 2 photo frames’
‘not equal to each other’ (comparison of any 2 or more)
‘different amounts of different prizes’ ‘more prizes than others’
‘cuddly toy is most common’
‘more of one thing than another’
‘more likely to win a cuddly toy or box of chocolates’
‘less chance to win a book or photo frame’ Do not allow
‘less of certain prizes’ ‘there are only 2 photo frames’ (with nothing else said
— no comparison with any other prize)
‘different prizes’
1
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(@) How much does it cost for one packet of sunflower seeds? . 2]

(b) How much does it cost for one packet of cosmos seeds? [2]

fin.80 4920 ={L. 5




Sticky Note

In part (a), the candidate has not interpreted the question correctly thinking that there were 2 packets of sunflower seeds and not 5. In part (b), the candidate has shown the first step of the method to find the cost of one packet of cosmos seeds but has then not divided by 2. 
The candidate was awarded M0A0 in both parts.
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Sticky Note

This candidate has used the correct method to find the costs in both parts of Q1; however, in both parts the candidate has used incorrect units for their answers. This meant that they were awarded M1A0 in both parts. 






















1. Simran buys 5 packets of sunflower seeds and 2 packets of  |[[T[[T[[ITTHTTT PR
Ccosmos seeds.
The sunflower seeds cost a total of £9.30. SUNFLOWER COSMOS
The total cost of all the packets of seeds that Simran buys
is £13.80.

(@) How much does it cost for one packet of sunflower seeds? 2]

(b) How much does it cost for one packet of cosmos seeds? 2]

Examiner
only

04
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